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A. Locate 
B.   Invite  
C. Request 
D. Bye 

Answer: B 

QUESTION: 113 

_______ is the amount of time, based on the physical nature of the network, to complete a task.
 

A. Throughput
B.   Delay 
C. Access time 
D.   Latency 

Answer: D 

QUESTION: 114 
The image below is a view of the Sniffer Summary window. What application is shown starting up? 

A.   FTP 
B.  SMTP 
C. SMB 
D. HTTP secure 

Answer: A 

QUESTION: 115 
This image shows statistics from the Sniffer Expert Connection layer. The number of application 
turns for this application was __________. 
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A. 2,355 
B.  4,476 
C. 6,831 
D. Can not be determined 
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Answer: D 

QUESTION: 116 

To accurately calculate bandwidth latency we must know __________. (Choose all that apply) 


A. The fastest link speed in the path between client and server 
B.   The slowest link speed in the path between client and server 
C. The link speed between the client and the firewall 
D. The distance between the client and the server (based on .66 the speed of light) 
E. The amount of data to be transmitted 

Answer: B, E 

QUESTION: 117 
One optional approach to improving application performance involves the use of  __________ to 
reduce the amount of data transmitted over long/slow links. 

A. Smaller TCP window size 
B.   Terminal Services 
C.   TCP Accelerators 
D.   Both B and C 

Answer: B 

QUESTION: 118 
In VoIP communications we can evaluate the performance of the conversation through the analysis of 
__________. 

A. Packet loss 
B.  Network latency 
C. Jitter 
D. All of the above 

Answer: D 

QUESTION: 119 

The well-known port used by FTP servers to establish a Control connection is:
 

A.  10 
B.  20 
C. 21 
D.  25 

Answer: C 
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QUESTION: 120 
When reviewing trace data in a multi-tier application, client requests can be associated with 
application server responses using  __________. 

A. TCP port numbers 
B.   Request ID 
C. Raw data in the database response 
D. Formatted data in the application response 

Answer: A 
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